
110 FIELD TERMINATED KITS

2 5 5 2 2 5  OR-70300030 RIVET: 12 PER PKG.
1 3 3 9 9 1 3 3 3 3 9 1 OR-70400272 HOLDER / INSERT, DESIGNATION STRIP

3 9 9 3 3 9 OR-30200143 110 DW4-100 BLOCK, WIRING
1 1 1 OR-30200145 110 AW4-100 BLOCK, WIRING

1 1 1 OR-30200007 110 AW4-300 BLOCK, WIRING
OR-30200022 110 DW4-300 BLOCK, WIRING

20 60 60 180 36 12 12 4 OR-30200010 110C-5 BLOCK, CONNECTING, BAGGED
180 4 12 60 12 60 36 20 OR-30200009 110C-4 BLOCK, CONNECTING, BAGGED

28 84 84 252 OR-30200008 110C-3 BLOCK, CONNECTING, BAGGED
2 2 2 2 2 2 OR-70100120 WASHER, LOCK #12 EXT.
2 2 2 2 2 2 OR-70100119 SCREW, PH, #12-14 X 5/8
1 1 1 1 1 1 OR-20700021 GROUNDING BAR
2 2 2 2 2 2 OR-70100002 NUT, 10-32
2 2 2 2 2 2 OR-70100129 SCREW, PH, 10-32 X 5/8

  1 1 1    1 1 1  OR-71600110 INSTRUCTION SHEET
1 1 1 OR-40200375 PANEL, 300 PAIR

1 1 1 OR-40200377 PANEL, 900 PAIR
3 9 9 3 3 9 OR-30200139 TROUGH, MANAGEMENT
1 1 1 1 1 1 OR-40200384 BOTTOM TRAY

REQ REQ REQ REQ REQ REQ REQ REQ REQ REQ REQ REQ PART# DESCRIPTION

11
0A

A2
-1

00
FT

   
   

O
R

-3
02

00
11

6

11
0A

A2
-3

00
FT

   
   

O
R

-3
02

00
09

5

11
0P

A2
-3

00
FT

   
   

O
R

-3
02

03
46

1

11
0P

A2
-9

00
FT

   
   

O
R

-3
02

00
02

4

11
0P

B2
-9

00
FT

   
   

O
R

-3
02

00
02

6

11
0A

C
2-

10
0F

T 
   

  O
R

-3
02

03
46

0

11
0A

C
2-

30
0F

T 
   

  O
R

-3
02

03
53

8

11
0A

B2
-3

00
FT

   
   

O
R

-3
02

03
51

9

11
0P

C
2-

30
0F

T 
   

  O
R

-3
02

03
55

5

11
0P

B2
-3

00
FT

   
   

O
R

-3
02

00
02

0

11
0P

C
2-

90
0F

T 
   

  O
R

-3
02

00
01

2

11
0A

B2
-1

00
FT

   
   

O
R

-3
02

03
50

6

125 Eugene O'Neill Drive
New London, Connecticut 06320

PACKING LIST
110 PATCH PANEL

FIELD TERMINATED

 OR-71600110, REV. 07, ECN #01127  12/18/96   SHEET 1 OF 2




